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Consider the two sets :

A={m € R : both the roots of
x>—(m+1)x+m+4=0 are real} and
B=[-3,5).

Which of the following is not true ?

Options :
40503639671, 4 Y B=R

40503639672, A M B=1-3}

ARt oo~ .
40503639673, >~ B= (=%, =)L @)

40503639674, B~ A=(=3.9)
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Options :
40503639671, 4 Y B=R

40503639672, A M B=1-3}

40503639673. B—=H=(— o = IS, )

40503639674, B~ A=(73,9)
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If « and B are the roots of the equation

1
12+ px+2=0and — and — are the roots
0

of the equation 2x2+ 2qx+1=0, then
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Options :
2
A=)
40503639675.
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40503639676, 4

40503639677. 4

40503639678, 4
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40503639677, 4
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The value of (2-'P,—3-2P; +4-°P, — ... up
to 51™ term)+ (1! -2 +3!— .. up to 51t
term) is equal to :
Options :

1+ (52)!
40503639679.

40503639680. 1

: |
40503639681, 111!

40503639682, 1~ 21(51)!
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Options :
1+ (52)!
40503639679.

40503639680. 1

: |
40503639681, 111!

40503639682, 1 21(51)!
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| x-2 2x-3 3x—4
F A= |2x—3 3x—4 4x-5H| =

Jx—5 Sx—8 10x-17

Ax¥? +Bx? +Cx+D, then B+ Cis equal to:

Options :
40503639683, 3
40503639684, 1

40503639685. 1

40503639686, 2
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| x-2 2x-3  3x-4

g A= 2x-3 3x—4 4x-5| =
3x-5> Hx—8 10x-17

AP +B2 +Cx+D % T B+C = & :

Options :
40503639683,
40503639684, 1

40503639685, 1

40503639686. 2
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If the number of integral terms in the

1
2

A g
expansion of [1 + 58 ] is exactly 33, then

the least value of n is:

Options :
40503639687, 128

40503639688, 248

40503639689.




40503639690, 264
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40503639687, 128

40503639688, 248
40503639689.

40503639690, 264
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If the first term of an A.P. is 3 and the sum
of its first 25 terms is equal to the sum of its
next 15 terms, then the common difference
of this A.P. is :
Options :
1

40503639691, ©




1
40503639692, 4

m5|||_-

40503639693.

1
40503639694, 3
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1
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1
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If y?>+log,(cos®x)=y, xe 1

then :
Options :

40503639695, ¥ O+ (0)]=3

20503639696, ¥ (V=0

40503639697, ¥ @I +1y'(0)=1
11l :j,

40503639698, ¥V (V)1 =2
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Options :
40503639695, ¥ O+ 1y (0)[=3

40503639696, ¥ (V) =0

40503639697, YOI+ (0)=1




0y =2
40503639698, ¥ (©)
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Let [t] denote the greatest integer = t. If
for some A 3 R —{0, 11,

im|{l— x+ |x
l.ﬂ:] — | = L,thenL isequal t0 :
i S S F o
Options :

40503639699, 2

40503639700. 1

B2 | =

40503639701.

40503639702, ©
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The function, f(x)=(@Bx—7%3, x € R, is
increasing for all x lying in:

Options :

14
oo, —5
40503639703, =

i

3 —W u (0, =)
40503639704, 15)

40503639705. =

40503639706.
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Options :
F 14
Ir_
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. o
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J|"r x |dx is equal to :
Options :
2
m
2

40503639707.
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40503639709. T
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Options :
2
T
40503639707, 2

2
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The area (in sq. units) of the region

{{I,yj:UEyEIE+1,UEyEI+1,

Options :

40503639711, ©
40503639712. 16

40503639713, 16

40503639714, 24
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40503639712. 16

40503639713, 16

Led
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The solution curve of the differential
equation, (1+e ']{1 | J.r J U —Jr

which passes through the point (D, 1), is
Options :

1 4 L‘J'
Jr =1+ylog,
40503639715, e 0 A
b 8
YA 1=y[lngﬁ[1 IZE W I 2}
40503639716. \ . d J
-X
40503639717. , ’
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40503639718. by

Question Number : 62 Question Id : 40503610917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
e " d
HIFHA THHIN(1 + e~ )(1 A f}ﬁ — 2

F A T, A g (0, 1) T AME, & :

Options :
A 1 4 X
llr" =1 4 ylt‘rﬂe{ ﬂ]L W
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Let P be a point on the parabola, yzz 12x
and N be the foot of the perpendicular
drawn from P on the axis of the parabola.
A line is now drawn through the mid-point
M of PN, parallel to its axis which meets

the parabola at Q. If the y-intercept of the
line NQ is % then :
Options :

' 1
MO = =
=

40503639719.

MQ = —

e | =

40503639720.

40503639721, TN=3

40503639722, TN=4
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Options :

' 1
MO = =
=

40503639719.

MQ = —

e | =

40503639720.

40503639721, TN=3

40503639722, TN=4
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A hyperbola having the transverse axis of
Iengﬂl.ﬁ has the same foci as that of the
ellipse 312+ 4y>=12, then this hyperbola
does not pass through which of the
following points ?

Options :

&@;@ﬂegedunia%



1 bt

(&)

40503639723, #
!
1, :%?|
40503639724, - e

40503639725.

40503639726. 4
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The foot of the perpendicular drawn from
the point (4, 2, 3) to the line joining the
points (1, —2, 3) and (1, 1, 0) lies on the

planc-:
Options :
Py —
40503639727, X1 4Y 1
R T
40503639728, X~ =Yt

 —f =T —
40503639729, XY —2z=1

Fy M
40503639730, X ty—z=1
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fagai (1, —2,3) 3R (1,1, 0) ¥ & I
el JE T W g (4, 2, 3) | 2 T o
&1 UTe 59 T9qe W, 92 E :
Options :

o iy Ly g
40503639727, Xtoy—z=1

r— 2 T —
40503639728, ¥ 2y tz=1

40503639729, ¥ Y~ 2z=1

40503639730, X Ty—z=1
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The lines

—

r = |: ;] +1027 + k) and

Options :

I J = —
40503639731 intersect whenl=1 and m=2

intersect whenlI=2 and m =
40503639732.

bJ | =

intersect for all values of [ and m

40503639733.
@, coll



do not intersect for any values of

40503639734, Land m
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r = tl! Jr.I I m|,_.£: I Jl' Ic:l
Options :

FEAE TG =1 dTM m=2
40503639731.

FEAT S T [ =2 99T m =

b | =

40503639732.

40503639733, | 01 m & FH1 AT foTu el &

| 9 m & Tl o |9 = foo =&
40503639734, F1ed
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For the frequency distribution :

Variate (x) : X, X Xy Xgs
Frequency (f): f fo ffis
where 0 < Xy <Xy Ay < o S Xy = 10 and
. 15

> fi >0, the standard deviation cannot
1=1

be :

Options :
40503639735.

40503639736.
40503639737.

40503639738, |
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Options :

40503639735.

40503639736.
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Question Number : 68 Question Id : 40503610923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A die is thrown two times and the sum of
the scores appearing on the die is observed
to be a multiple of 4. Then the conditional
probability that the score 4 has appeared
atleast once is:

Options :

1
40503639739, 2

WO | =

40503639740.

oo | =

40503639741.

e |

40503639742.
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1
40503639739, 2
1
40503639740. 9
1
40503639741, 8
1
40503639742, 4
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40503639743.
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\ 5 13 }
T B
Options :
.57.’
40503639743, 4
3
iy
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.?’:1'

40503639745. 2
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The proposition p—~(p A ~q) is
equivalent to :

Options :

40503639747. 4

(~p) v (~q)

40503639748,

40503639749, U P) ¥ 4
AL

40503639750, © ) 4
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HI= (proposition) 'p —=~(p ~ ~q) =
U fFaF e e ?

Options :

40503639747 1

40503639748, PV )
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m,
h

A -\
If(lli| =(1“1 =1, (m, nesN)

then the greatest common divisor of the

least values of m and n is
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5t05.002
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1

x .
Let A= L ], xe R and A= la;]. If

ay = 109, then a,, 18 equal to __
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Text Areas : PlainText
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5t05.002
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| x 1 :
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a2y, =109 &, W ay, TR E _ |
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5t05.002
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The value of

1 1 |

(1 )
P e et T = | isequal to
(016)%B2s|z Tty + =P q
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51t05.002
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51t05.002
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. ] 1 X x2
g imJt {1 _cos™— —cos™—
:l:—rﬂ"tl.ﬂ 7 4

; , then the value of

-
J
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5 to0 5.002
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The diameter of the circle, whose centre lies
on the linex + y=2 in the first quadrant and

which touches boththelinesx=3andy =2,
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